‘_e_c’hﬂ‘& 5 - Euc,\ic)ecm Gleow\e\\rué X( APP\‘\QQ’“OV\g

Lo\St e ! C\'v{\s\\mé witiA 6is+ov\dz., %ﬁ‘\‘\ﬁvx% \O\SJF noton weeded For
o«-dif\o/zé %x.ome,\v'é- '_\_oawg we cé'q;t Some \0‘\3 %Lomekﬂg wsolk,

Thw (Cau 'J’\é - Sc,\r\wor3> .

| T.5 £ 1Tl |9l a— bap wiles 4ie a RIS
h =R, Iol=Ivl

, Se Cqua,\.é—sc\,\WWB s dbviobus: \G-Sl= |TlISL,
TJost have o remewdot that vechrs ok o \ite badly eManed .

T D) W £ RN LgQ)

L'Tricm%\x. lnequ q\'\\\év

d IF T.I=o, e NRT I = LG+ N

>
PE: Look ot l\ﬁ-\-'\?\\l: (5T) - (Ge)
FOL.L. e RRS:

]

I

TWUR+ RV AVRTUN
= A 2w.T + ™ ()

B opot D fave It < lEfral@uls i

(D £ T+ 2 T uSI s
= (na\\a-ncn)a'
Talle F: ha+<ll & URk(Ssu
~ - = —_—
i pvt2) F T T=0, 4 e Ris § (6 ¢ N+ WS so
(%) \oecowes 17w 0= Yl ot ¥
Pielues
W

s\

3
/ Q x\® '—'ﬁr!‘w\a\c_ Yo cx.\'\\n% s:aas v T W

ey side & most e
sum of Y ot~ sides

A Cw ‘Pm'\bcr\‘\e..s & -1l ad d(-,-\)'-

Na\ =0, =oc«s>u=o

d(Xgd20, =o e>x=y

Weall = lel-an X, = &(‘%,5?)



So our nohon of distenca does caple our iniflen, nd we 38 how 1l wovies
wih Mo vector opeabovs-

e
Applicalions
T. Corve ‘HPn'n%L
. Elekvica Credb
L. TvafRe Plow
I. Kow dhal gl 2 poinb, e s a uniqee it When Ham. Con fores

> Basically 4 sawe_ deon

s o hove o wef of 4 G Y = Unig e e,quakov\,

—nl\.l\S %&V\b\r‘allge.s: ‘-C we \/\au,-e_ n ?oin](‘sJ -H,c,e_ s a Un'lqlrc. covrve 5(-: ‘\L&._Corw\
Y= Agt oxt ot ap X

?assi/\% -\’Woucab\ Hom .

Rad US\'r\%_ o \ineov s%sl-vms,'

(-,2), (2, (2,

A= ag+a (-D)+ C\Z_(-D?‘ [ \ 2 I - \ 7
A= e 4o () + aald? 4—-:(! L) 2 D; 6 L o | 6] =2
4= og+ o @+ g,(3) 2 4 'ny o 3 3'1
I o 12 6 o
o | o of|['®|lo I o 6|~ W= Yo + @/3)x*
o o6 | Y 6 o \ ' Y
Moral 'P\ug in evny -Point‘.
. Elechical Networks Gereit ov\a\‘ésis
Kerchof™s  |Lows
D TJunchons ¢ "Conservahon ot cumeit = Covredt (:\oww\g in must flow aut.

2 Patas 3 "ConSe__r\m'\ﬁon of m?mu\-uw\“— Sum of IR a\ong eny pafn is Ao vo“*o?u,

L, ;]\.‘ &b

<

ety
L\!‘.z_'(‘ 4L3= 2%




I . TrBRe Rlow

|

vole

ralke :

t\

2

&

Y 34| =+ 2,
H ag| =4
\ u! 0
3 7
\ [
n
e £ cov
=

| | -1 0 | |

( 1Y 2 17 = o -\

0 \ \ 7 0 ]

| | o b | o}

> (0o 1 (e} | = | l

0 o | b 0O ©°

\\

s —l$ ‘=v-a.=.a.,~..¢37 ca cors

-1 0o
32
l
6 b
o
(I
%b ¥a)

t (I o
L \ -3 -z
) O O 4 2



